\

LO)
0
€@
Panasonic
WV-S6530N
Ul [y
/
-
: "2
® 160
®229

No . Part Name Material Process-Remark
T |Network camera unit -

2 |Dome cover Polycarbonate resin ClearSight
S [Main sunshield PC+ABS

4 |Cable cover Aluminium aloy

5 |Front sunshield PC+ABS

6 |Rear sunshield PC+ABS

7/ |Sunshield fixing screw Stainless steel M4

8 |Safety wire Stainless steel

9 |Housing fixing screw Stainless steel M6(3pcs)

10 IMounting guide pin Steel (3pcs)

11 |Main sunshield rear cover PC+ABS

12 |Water-resistant cap Polycarbonate resin

153 |Water-resistant cap locking screw |Stainless steel M4(2pcs)

14 |SD memory card slot -

15 |Power indicatior -

16 |[Live indicator -

17 JINITIAL SET switch -

18 |Name plate Aluminium aloy t=0.5

19 |Serial nunber label Polyester film Printing
20 |Housing Aluminium aloy

21 [Wire hook Stainless steel

22 |Wire stopper ABS resin

23 |Cable case Polycarbonate resin

24 |Cable case fixing screw Stainless steel M4(5pcs)

25 |RJ45(female) Network Cable -

26 |Alarm input/output cable -

27 |Audio output cable(Black) - Black

28 |Audio input cable(White) - White

29 |Power cable -

30 |FCC/DOC Iabe | Aluminium vapor deposition film|Printing
31 |Data matrix label Polyester film Printing
52 |CE label Polyester film Printing
33 |Code label Polyester film Printing
54 |SD slot label Polyester film Printing
S5 |Attachment pipe Aluminium aloy

36 |Bracket pixing screw Stainless steel M5(4pcs)

we/mE/Projected area
FEH/Top-view 0.041 (m*)
B /S de—v iew 0.059(m")

WV-S6530N




